Homework #5

Selected Problems

2.1

8. {(-7,-7), (-5,-5), (-3,-3), (0,0)} Yes

18. 
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 No: if x=1, then y=2 or y= -2
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32. 
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36.
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42. 
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 SHAPE  \* MERGEFORMAT 
[image: image6]
g(x) is f(x) pushed up three units in y

54. 
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 SHAPE  \* MERGEFORMAT 
[image: image8]
Pushes graph left 2 units

78. [image: image9.jpg]



a) domain: all reals

b) y ≤ 4

c) x = -3, x = 1

d) y = 3

e) f(-2) = 3, f(2) = -5

2.4

2. y =  -2x, parallel means same slope, m = -2
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6. parallel to y = -5x + 4, m = -5, pt. = (-2,-7)

y = -5x – 17

10. parallel to 3x – 2y – 5 = 0



[image: image11.wmf]2

9

2

3

)

3

,

1

(

,

2

3

2

5

2

3

+

=

-

=

-

=

x

y

m

x

y


16. 
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slope between points is average rate of change
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26. f(x) = 2x + 10, slope = 2

For each year x after 2000, the drug industry spends an additional two billion dollars marketing to doctors (than they did in the previous year)

Homework

2.2

6. 
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12. 



[image: image15.wmf]3

2

)

3

2

(

3

2

1

3

1

3

3

2

1

3

1

)

(

3

)

2

(

)

1

3

(

1

)

(

3

)

(

1

3

)

(

2

2

2

2

2

2

2

2

2

2

-

-

-

=

-

-

-

=

-

-

-

=

-

+

+

+

-

-

-

-

-

=

-

+

+

+

+

-

+

+

-

=

+

-

-

-

+

+

-

+

-

+

-

-

=

h

x

h

h

x

h

h

h

h

xh

h

x

x

h

x

h

xh

x

h

x

x

h

x

h

xh

x

h

x

x

h

x

h

x

x

x

x

f


18. 
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24. 
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a) f(-3) (first piece): (-3,-19)

b) f(0) (second piece): (0,3)

c) f(4) (second piece): (4,31)

30. a) x > -1

b) x < -1

c) x = -1 or none

36. a) 0 < x

b) none

c) x < 0

42. a) rel. max at x = 0, max = 2

b) rel. min at x = -3 and x = 3, min = -1

48. 
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54. 
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60. neither

66. f(x) = int(x), f(2.99) = 2

72. 
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78. f(100)≈2, i.e. 2% of Americans are Jewish

84. percentage increased prior to WWII, and has been on a slow & reasonably steady decline since

90. 
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96. a piecewise function is described in pieces, some values of x for one equation, and another equation for other values of x

102. int(-3.000004) = for negative #’s, any small decimal past a whole integer, round “up” to the next higher magnitude negative (i.e. round down by the number line).  So int(-3.0000004) = -4

108. 
[image: image22.wmf]3

2

)

(

x

x

g

=


[image: image23]
If no graphing calc, choose points, like x= -8, -1, 0, 1, 8, etc.

114.
[image: image24]
2.3

6. (4,-1), (3,-1); slope = 0

12. m = 4, pt = (1,3)

y – 3 = 4(x – 1)

y = 4x – 1

18. m = -2, pt. (0, -3)


y = -2x – 3

24.
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30. (-2,-4), (1,-1) gives m=1


y = x – 2

36. (1, -3), x-int = -1, i.e. (-1,0)
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42.f(x) = -3x + 2, slope = m = -3, b = y-int = 2

48. 
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54. x = 0


[image: image28]
60. 4x + y – 6 = 0

a) y = -4x + 6

b) m = -4, b = 6

c) 
[image: image29]
66. 4y + 28 = 0

a) y = -7

b) m = 0, b = -7

c) 
[image: image30]
72. 6x – 3y + 15 = 0

y = 2x + 5


y-int = (0,5)


x-int = (
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78. 
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84. (2,-6), m = 
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90.
[image: image35]
(1,35), (4,41)

m = 2, y-int = 33

y = 2x + 33

c) A(11) = 2(11) + 33 = 55 million

96. if x = 2 is the line, then this is true for any y-values, since there are no y’s in the equation.  Thus y = 1, x = 2; y = 0, x = 2, etc.  Connect the dots to get a vertical line.  This line can’t be expressed  in slope-intercept form as the slope is undefined (and there is no y in the equation).
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 EMBED Equation.3  [image: image37.wmf]
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108. (a,0),(0,b)
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Called intercept form since x is over x-int and y is over y-int.
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